PRP H0tRE 24 gjfEey

7712 2 1 US| R[4 QAL I

CHofB 7 [Alo] A1X|0| AR5, SHESATO] SO[3t T2 2 Eieint 48 ORI S
A 2| 40| AMFHEE AF 02 BHS 4 Qle2 0t HZ QL |}

ABAL: Zinc chrome RAL 1018
0| EESH I |A|IE 2 ESF CIARIE 7IsELICH, L= AHAG Jhs
Aot=2 Qured A58

At | =2(nibbing) S £220| YAGHE S EX 420

oL, 927, TP, ERA, AT, WASHET I, B,
ANOIMRE,  AETI0 3B, Ta1E0| TR A7 of
SOONIIZNET 2D BYHQ 243t
S 24 B S0fck £ QP
| |
= = o

M10-M30, 20| 75-500mm A0 223t AR Tk

5125= h 385 h LiAH @ =E
kg mm kg mim mm =
PRPS0 115081 __ 400 50 1000 20 1500 50 M12x1.5 101 +20
PRP 120 115120 __ 600 50 1500 20 2000 50 M16x1.5 123 +25
PRP 160 1.15160.__ 1200 52 3000 o2 3500 52 M20x1.5 168 +25
PRP 200 1.15200.__ 1750 54 4000 o4 4000 >4 M24x2.0 206 +25
PRP250HD  1.15253 _ 3200 60 8000 60 8000 60 MZ7x2.0 260 +25
PRP300HD 1.15302_ 4500 73 10000 /3 10000 i M30x2.0 305 55
g2 A9 PRP PRP PRS / PRSK
OIH =2, A2 IEAHHE  AF{CR] ARE R2 (2 SZH2)
1EA+2I1EAZ 1M
SW SW Yy SW g7
Uil | i ] ;
L L ||
=5 B! = |
LA HET= SW HESH= SW AEH= SW
=125mm  [=1/5mm L 1=125mm  L=1/5mm L =150mm  L=1/5mm AL
M12x1.5 9.05123 8 906123 13
M16x 15 9.05163 9.05165 10 906163 9.06165 17 960164 12
M20x 1.5 9.05203 9.05205 1 906203 9.06205 24 960204 960215 15
M24x2.0 9.05243 905245 17 906243 9.06245 77 9.60245 17
M27x2.0 9.052/3 9.05275 19 906273 9.0627/5 7.5
M30x2.0 9,05303 9.05305 22 906303 9.06305 36



